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public class Cell<T>{
private T cont;
private Cell<T> next;

public Cell(T cont, Cell<T> next) {
this.cont = cont;
this.next = next;

}

public T cont() { return cont;}

public Cell<T> next() { return next; }

public void setNext(Cell<T> next) { this.next = next;}
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public class MyList<T>{
private Cell<T> head,;

public MyList(Cell<T> head) { this.head = head; }

public Cell<T> getHead() { return head; }

public void printList() {
System.out.print("List: ");
for (Cell<T>y = head; y |= null; y = y.next())
System.out.print(y.cont() + " ");
System.out.printin();

}



N2 NP7NNA YIn'y

0I19'0N NKX M2AN 0I9'VN DIFNA |"'¥1 ,NMIA NP7NNA YIN'Y NWYI UKD
Ao ptralirh!

Cell<String> ¢ = new Cell<String>("a", null);
MyList<String> Ist = new MyList<String>(c);

2171 DA NIrR% 212 M2 019'0
Cell<Cell<String>> c2 = new Cell<Cell<String>>(c, null);
NTINNY IX NP7NNT T'N' 22 210N9N0 N YTANT [N
public class Cell<S, T>{... }
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public class Cell<bears beets battlestar galactica>{...}
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interface ldentifier<T, S> {
T getMainldentification();
S getSecondaryldentification();

}

public class EmployeeCard implements ldentifier<integer, String> {
int id;
String name;
public EmployeeCard(int id, String name) {
this.id =id;
this.name = name;

}

public Integer getMainldentification() { return id; }
public String getSecondaryldentification() { return name; }
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interface ldentifier<T, S> {
T getMainldentification();
S getSecondaryldentification();

}

public class EmployeeCard<T, S> implements Identifier<T, S> {
T id,
S name;
public EmployeeCard(T id, S name) {
this.id =id;
this.name = name;

}
public T getMainldentification() { return id; }

public S getSecondaryldentification() { return name; }
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T t = new T(); // does not work!
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:0'NNNN (wrapper)

Boolean, Byte, Short, Character, Integer, Long, Float,
Double
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public class Container<T> {
private T val;
public Container(T val) { this.val =val; }
public T getVal() { return val;}
public void setVal(T newVal) { val = newVal; }

public static void main(String[] args) {
Container<String> strCont = new Container<String>("Getting schwifty");
strCont.setVal(0); // Error — doesn’t compile (which is good!)

Container rawCont = new Container<String>("Getting schwifty");
rawCont.setVal(0); // No error (which is bad!)

Container<String> rawCont2 = new Container(0); // No error (also bad)
String s = rawCont2.getVal(); // Run-time error
}
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NPV NNIYN "My
Container<String> ¢ = new Container<String>(“Kid A");
Container<String> ¢ = new Container<>(“Kid A");
NI717Y NNIYN "My
Container<Container<String>> c =
new Container<Container<String>>(new Container<String >(“Kid A"));

Container<Container<String>> c =
new Container<>(new Container<>(“Kid A"));
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public class Helper {

public <T> boolean compare(Container<T> cl,
Container<T> c2) {

return cl.equals(c2),

}

,Helper<S> ma np'?nnin nx 2 1an% 0 n71o¢
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public class Helper<T>{

public <T> boolean compare(Container<T> cl, Container<T> c2) {
return cl.equals(c2);

}

public static void main(String[] args) {
Helper<String> h = new Helper<>();
Container<Integer> c1 = new Container<>(1);
Container<Integer> c2 = new Container<>(2);

h.compare(cl, c2); // this compiles
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public class Helper<T> {
public boolean compare(Container<T> cl, Container<T>c2){...} }

OKI

public class Helper<T> {

public static boolean compare(Container<T> cl1, Container<T> c2){...}

}
Compilcation Error: cannot find symbol
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Strings="I Am An Object Too",
Object o0 = s;
?N'PIN ITN NNYNN DXN
Container<String> s = new Container<>("whoops");
Container<Object> 0 = s;
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GenericClass<B>-% GenericClass<A>
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public static void printNumbers(Collection<Number> numbers) {
for (Number n : numbers) {
System.out.printin(n.intValue());

public static void main(String[] args) {
List<Number> In = Arrays.asList(1.1,2.2,3.3);
List<Double> Id = Arrays.asList(1.1,2.2,3.3);

printNumbers (In); // prints 1 2 3
printNumbers (Id); / Compliation Error!
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1 List<? extends Exception>

xception
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List<? super Exception>
Exception

)
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public static void printNumbers(Collection<?> numbers) {
for (Number n : numbers) { /[ Compilation error!
System.out.printin(n.intValue());
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public static void printNumbers(Collection<? extends Number>
numbers) {

for (Number n : numbers) {
System.out.printin(n.intValue());

public static void main(String[] args) {
List<Number> In = Arrays.asList(1.1,2.2,3.3);
List<Double> Id = Arrays.asList(1.1,2.2,3.3);
printNumbers (In); // prints 1 2 3
printNumbers (Id); // prints 1 2 3
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public static void example(List<? extends Exception> Ist){
Ist.add(new Exception("a"));
M Exception e = Ist.remove(0);

}
AN QX Q'oIn? D11 X7 nwyn?

public static void example(List<? super Exception> Ist){
M Ist.add(new Exception("a"));
Exception e = Ist.remove(0);
 Object o = Ist.remove(0);

}
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List<? extends Exception> Ist = new ArrayList<Exception>();
Ist.add(...);
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public void f(List<? extends Number> Ist1,
List<? super Number>Ist2)

[}
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public class Box<V>{

1 public <T>void funcl(Set<T> s1, T item) { sl.add(item); }
public void func2(Set<?> s2, Object item) { s2.add(item); }

public void func3(Set<? extends Exception> s3, IOException item) {
s3.add(item); }

1 public void func4(Set s4, Object item) { s4.add(item); }
}

func4-1 funcl 71 :nalwn
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public class Test<T extends Comparable> {
public static void main(String[] args) {
List<String> strList = Arrays.asList("abc", "def");
System.out.printin(func(strList));
}
public static boolean func(List<*******> |gf) {
return Ist.get(0).compareTo(lst.get(1)) == O;
3}
PFEEEE IR Q'7NNT NIT71D' NIRAN NIYOIRNN 17X
? extends Comparable :1 n'xoix ¥
T:2 nyoIx [
Comparable :3 n'¥oIx
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